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HSelect the pair which has the same relationship
of GRAIN : SALT
A. shard : pottery B. shred : wood
C. blades grass D. chip : glass

ot¢. Find l.h.e c;)rrﬂ'.e”ctly spelt word. -
A. Adulation B. Adlation
C Adulctlon D Addu]atlon

o, Qur task had been completed before sunset.
Change it into active voice -

A. We completed our task before sunset.

B. We have completed our task before sunset.

C. We complete our task before sunset.

D. We had completed our task before sunset.
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ob. The boy laughed at the beggar. Change 1t into
passive voice-

A. The beggar was laughed by the boy.

B. The beggar was being laughed by the boy.

C. The beggar was being laughed at by the boy.

D. The beggar was laughed at by the boy.
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